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Important Limits 
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VII. If   is measured in radian, then 
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Question # 1 
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Question # 2 
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(iii)  
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Law of Sine 

If   is measured in radian, then 
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See proof on book at page 25 
 

 

Question # 3 

(i) 
0
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Now put      
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(vii)  Do yourself by rationalizing 
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(xii) 
30

tan sin
lim

sin

 




 

   
30

sin
sin

coslim
sin









    
30

sin sin cos

coslim
sin

  
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sin sin cos
lim

sin cos

  

 


    

 
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
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 
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

 
   

1

2
  

 

 

Note:  

a) 
1

lim 1

n

n
e

n

 
  

 
 

b)  
1

0
lim 1 x

x
x e


   where  2.718281...e   

See proof of (a) and (b) on book at page 23 

c) 
0

1
lim log or ln

x

e
x

a
a a

x


  

Proof: 

Put   1xy a    …….. (i) 

When   0x    then   0y   

Also from (i)    1 xy a   

   Taking log on both sides 
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